CLASS : 12th (Sr. Secondary) Code No. 5607
Series : SS - April/2021
Roll No. SET : A
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(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 40 (A1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
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Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U I F A B G F 57 G979 7 R §T 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : A)/ | P.T.O.




(2) 5607/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT a8

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5607/(Set : A)/ |



(3) 5607/(Set : A)
Fe: g7 HE 1 @ 3 F G FF G 597 F0 99 qH 97 ST &

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. FEFX M & ? el § @ B gl H aUT B 4

What is a Constructor ? Explain any two types of constructors.

2. U, UEde R Medes Fd AW & auH Hi 4

Explain Public, Private and Protected class members.

3. UF FAH-FAHET I oy = anfa & ¢ 4
e AR : TR, AR, SR
T B -
(i) S Ig o,
(i) TRAT &I TOMT B,
(iii) GEAT FERA N (T, AerE, TRA)

Create a class-Classroom which includes :
Data Members : Length, Width, Height
Member functions :

(i) To assign initial values,

(ii) To calculate area,

(iii) To display information (length, width, area).

4. LAN 3R MAN ¥ o= fafu 3
Write the difference between LAN and MAN.

5607/(Set : A)/ | P.T.O.



(4) 5607/(Set

5. T @ uRww fafeaw 9 FE ol g 79 & HE< B aU B

Define Inheritance. Explain the concept of Base class and Derived class.

6. Y H 4 &Y B 8 7

How insertion takes place in a queue ?

7. SUAEAE & uiEe e

Define Normalization.

8. J9 SISO H URHW [T A9 SSX H 0% IaleXv foray|

Define Web Browser. Write any one example of Web Browser.

5607/(Set : A)/ |
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Roll No. SET : A
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COMPUTER SCIENCE
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(Objective Questions)

ACADEMIC/OPEN
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[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT FW T 5 G F 5 JeT-9 § FRT § 7 79 797 20 8

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T 7 g o arar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

() @ g7 IErt &

All questions are compulsory.

5607/(Set : A)/ I P.T.O.



(2) 5607/(Set : A)
(i) 797 FH% 1 § 20 7% TG 597 8 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a5 9 ]
[ Objective Type Questions ]
1. TF DHEFT B A oo, 3 W & T 2 1

A constructor has same name as that of its .................. .

2. CH+ ¥ o, R I FA AR Fed & 1
@) >> (B) <<
< > (D) <
In CH++, coiiiiiiiiiinn. operator is also known as insertion operator.
@) >> (B) <<
< > (D) <
< TR Y Reliegs™ SR 2 1
(A) o (B)
(&I (D) !

.................. is scope resolution operator.
(A) = (B)

€ (D) M

5607/(Set : A)/ 1l



(3)
4. OOP's & T & ................ Bl
Full form of OOP's is .......c.c.coeuuiee.
5. ®F cooooeenn. Frem @ ameia 2
(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.
(A) FIFO (B) LIFO
(C) PILO (D) LILO
6. REH ..o, R B B
(A) 1 B) 2
€ 3 (D) 4
There are .............c.c..... operations in stack.
(A) 1 B) 2
€) 3 (D) 4

7. T RQI INF § 8N, oFR 39 a9 S99 |

5607/(Set : A)

1

A relation is in INF, if all underlying domains of relation contain ...................

values.

(A)
(B)
(€)
(D)

5607/(Set

TR

LAY

P.T.0O.



10.

11.

12.

13.

(4)

Normalization minimizes ............ .

(A)
(B)
(C)
(D)

(A)

Attributes
Tuples
Redundancy
Updation

.......... SQL & e 7& 2

DCL (B)
DDL (D)

......... is not a component of SQL.

DCL (B)
DDL (D)

Full form of FTPis .............. .

% A S Jeas 7 e (STeTNEsS) THE ® e & [ @l T o,

(€)

......... Fed 2l

DBL
DML

DBL
DML

foret (B) ed

BRI (D) WX

5607/(Set : A)/ 1l

5607/(Set : A)

1



(5) 5607/(Set : A)

A system designed to prevent unauthorized access to a network is

called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
14. F<HC TEES H IP B TATT oo Bl 1

(A) FTT Mgl

(B) FeIHc Uemd
(C) FeHe WP
(D) F=e TEaT

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

15. HTML & 9% &7 ................ Bl 1
Full form of HTML is .............. .
16. 5 39 U9 & T HTML &9 & G& T .o 2| 1

(A) &S, TEed, HTML, Stel
(B) HTML, §8l, TEed, &8
(C) HTML, g€, TRed, arel
(D) §fEl, HTML, 88, eged

5607/(Set : A)/ I P.T.O.



17. ...

(6) 5607/(Set
............... is the correct sequence of HTML tags for a webpage.
Head, Title, HTML, Body
HTML, Body, Title, Head
HTML, Head, Title, Body

Body, HTML, Head, Title

........... & TR I AE B o
<a> (B) <b>
<br> (D) <bo>
................ tag makes the text bold.
<a> (B) <b>
<br> (D) <bo>

19. HTMLH &9 ....occove.. 2 &l

(A)

(B)

(C)

(D)

5607/(Set

ERICIGICE]

diUed ofeR

da dfdiea &

Bie e} §

LAY

: A)



(7) 5607/(Set : A)
The tags in HTML are ................ .
(A) Case-sensitive
(B) In upper case
(C) Not Case-sensitive

(D) In lower case

20. W H SRS HH H T TUB ..oovvnnne 2l 1
(A) int exam [10];
(B) int exam;
(C) exam {20};
(D) array exam [15];
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : A)/ I
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ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
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W1 & 99T-0 § %W 8 U U9 GFHI & S99-9 § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U I F A B G F 57 G979 7 R §T 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : B)/ | P.T.O.




(2) 5607/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT a8

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5607/(Set : B)/ |



(3) 5607/(Set : B)
Fe: g7 HE 1 @ 3 F G FF G 597 F0 99 qH 97 ST &

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. % Fae-Faaed a9 s e e & 4
e AR : T, AR, SR
T B -
() @ acg T,
(i) TRAT &I TOMT H,
(iii) GEAT FERA A (T, AerE, TRA)

Create a class-Classroom which includes :
Data Members : Length, Width, Height

Member functions :
(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

2. U, UEde X Medes FAE AR & auH Hi 4

Explain Public, Private and Protected class members.

3. HEFI M & ! el § TWE D el H qUT B 4

What is a Constructor ? Explain any two types of constructors.

4, SUAEAIE H urEE R 2

Define Normalization.

5607/(Set : B)/ | P.T.O.



(4) 5607/(Set :

5. 39 SISO & IR fRaT 39 SIS &1 g% I3 ARy

Define Web Browser. Write any one example of Web Browser.

6. LAN 3R MAN # o= faifu
Write the difference between LAN and MAN.

7. R F o9 Rgw 9 G o RS w9 & HAT & qU B

Define Inheritance. Explain the concept of Base class and Derived class.

8. ¥ 7 3qH %4 B 8 ?

How insertion takes place in a queue ?

5607/(Set : B)/ |
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Roll No. SET : B
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(aEgfss 9%9)
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ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT FW T 5 G F 5 JeT-9 § FRT § 7 79 797 20 8

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T 7 g o arar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

() @ g7 IErt &

All questions are compulsory.

5607/(Set : B)/ I P.T.O.



(2) 5607/(Set : B)
(i) 797 FH% 1 § 20 7% TG 597 8 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a5 9 ]
[ Objective Type Questions ]
1. HTML# ............... PEME TR 1
................ is the paragraph tag is HTML.
2. HTML# &9 ............... 2 1
(A) Y dfafea
(B) iUed R ¥
(C) @9 Gffeq w&t
(D) BIC R |

The tags in HTML are ................ .
(A) Case-sensitive

(B) In upper case

(C) Not Case-sensitive

(D) In lower case

5607/(Set : B)/ Il



(A)
(B)

(€)

5. CH+ 8 oo AR H ga SffaRex off Fea B
@) >> B <<
< > (D) <
T CHty e, operator is also known as insertion operator.
A) >> B) <<
) > D) <

(3) 5607/(Set : B)
3. W F IR X H Gol TAH oo 2l

int exam [10];
int exam;
exam {20};

array exam [15];

........... is the correct way of declaring an array.

int exam [10];
int exam;
exam {20};

array exam [15];

5607/(Set : B)/ I
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5607/(Set : B)/ Il

LIFO
LILO

LIFO
LILO

2
4

2

(4)
................ Y Reliege™ e 2
Aa) :: (B)
(S (D)
.................. is scope resolution operator.
(A) o (B)
(& I (D)
. OOP's &l T & ................ 2l
Full form of OOP's is .....ccevvennnen.. .
D RB e, Frem W emeia &
(A) FIFO (B)
(C) PILO (D)
Stack is based on .............. principle.
(A) FIFO (B)
(C) PILO (D)
L REF SR B Bl
(A) 1 (B)
€ 3 (D)
There are ..........ccceeuenne. operations in stack.
(A) 1 (B)
€ 3 (D)

4

5607/(Set :

B)



(5) 5607/(Set : B)
10. T R9H INF H 81, R 366 G 89 H ..o I B 1

A relation is in INF, if all underlying domains of relation contain ...................
values.

11, SEHARAMT v, B HH HIA 2 1

(D) STeI
Normalization minimizes ............ .
(A) Attributes
(B) Tuples
(C) Redundancy
(D) Updation
12, e, SQL & &< 78 2l 1
(A) DCL (B) DBL
(C) DDL (D) DML

............... is not a component of SQL.

(A) DCL (B) DBL
(C) DDL (D) DML
13. WWW &l I &7 .....cocoe Bl 1

Full form of WWW is .............. .

5607/(Set : B)/ I P.T.O.



(6) 5607/(Set : B)

14. WAN&H Q0 &Y ..o Bl 1
Full form of WAN is .............. .

15. FTP & T &Y ....cooeeeee 3l 1
Full form of FTP is .............. .

16. & A ot Aeas # oFiga (SFeliEss) g & U%4 & [Q S9/ T &, @

............... Hed Bl 1
A) fos (B) ded
(C) IR (D) WIK
A system designed to prevent unauthorized access to a network is
called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
17. F<C IEEH H IP B TATT oo Bl 1
(A) FEE HaEet
(B) FeIe T
(C) Fee UMK
(D) FTIT FHER

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

5607/(Set : B)/ Il



18. HTML & J% &7 ................ Bl
Full form of HTML is .............. .

19. %dl 39 99 & folT HTML 39 & 98l &4

(A)
(B)
(C)
(D)

20. ......

g8, TEed, HTML, et
HTML, &, e@ed, &8
HTML, B8, <Zed, del
§fgl, HTML, 88, <ged

Head, Title, HTML, Body
HTML, Body, Title, Head
HTML, Head, Title, Body
Body, HTML, Head, Title

.......... A TRT H A BT B

<a> (B)
<br> (D)

............... tag makes the text bold.

<a> (B)
<br> (D)

5607/(Set : B)/ I

5607/(Set :

is the correct sequence of HTML tags for a webpage.

<b>

<bo>

<b>

<bo>

B)
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Roll No. SET : C

COMPUTER SCIENCE
HT-1
PART -1
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(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
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(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 40 (A1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IO YR § @ 31 990 N OAFL AT B W Ued SR-gRas
E GO I e B0 0 O R R 7 L (e s O O 22 R G
BN & % ger qd qdemel St I & g% o Rar smem

W1 & 99T-0 § %W 8 U U9 GFHI & S99-9 § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U I F A B G F 57 G979 7 R §T 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.

5607/(Set : C)/ | P.T.O.




(2) 5607/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT a8

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.

5607/(Set : C)/ |



(3) 5607/(Set : C)
Fe: g7 HE 1 @ 3 F G FF G 597 F0 99 qH 97 ST &

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. FEFX M & ? el § @ B gl H aUT B 4

What is a Constructor ? Explain any two types of constructors.

2. U, UEde R Medes Fd AW & auH Hi 4

Explain Public, Private and Protected class members.

3. UF FAH-FAHET I oy = anfa & ¢ 4
e AR : TR, AR, SR
T B -
(i) S Ig o,
(i) TRAT &I TOMT B,
(iii) GEAT FERA N (T, AerE, TRA)

Create a class-Classroom which includes :
Data Members : Length, Width, Height
Member functions :

(i) To assign initial values,

(ii) To calculate area,

(iii) To display information (length, width, area).

4. R P o9 Rgw 9 w9 o RiEE 79 & HAT & qU B 3

Define Inheritance. Explain the concept of Base class and Derived class.

5607/(Set : C)/ | P.T.O.



5. T 7 399 34 A & 7

How insertion takes place in a queue ?

6. STUAEAYE H ufHEm e

Define Normalization.

7. 39 TSR Bl IR [GRITI IT TGO BN 0% IR [y

Define Web Browser. Write any one example of Web Browser.

8. LAN 3R MAN ¥ 3= foiau)
Write the difference between LAN and MAN.

5607/(Set : C)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : SS - April/2021

Roll No. SET : C
HGR {a5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT FW T 5 G F 5 JeT-9 § FRT § 7 79 797 20 8

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T 7 g o arar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

() @ g7 IErt &

All questions are compulsory.

5607/(Set : C)/ I P.T.O.



(2) 5607/(Set : C)
(i) 797 FH% 1 § 20 7% TG 597 8 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of

1 mark.
[ a5 9 ]
[ Objective Type Questions ]
1. HTML® T &9 ..o Bl 1
Full form of HTML is .............. .
2. 5l 39 U9 & W HTML &9 &1 98 B9 ooovvveee. 2| 1

(A) &S, TSed, HTML, Sl
(B) HTML, §8l, ¢Eed, &8
(C) HTML, g€, TRed, arel
(D) &fEl, HTML, 88, TEed

.................... is the correct sequence of HTML tags for a webpage.
(A) Head, Title, HTML, Body
(B) HTML, Body, Title, Head
(C) HTML, Head, Title, Body
(D) Body, HTML, Head, Title

< & THRE Bl S B o 1
(A) <a> (B) <b>
(C) <br> (D) <bo>
..................... tag makes the text bold.
(A) <a> (B) <b>
(C) <br> (D) <bo>

5607/(Set : C)/ Il



(3) 5607/(Set : C)

4. HTML# ... EE T R 1
................ is the paragraph tag is HTML.

5. HTML® &9 ....cccve.... 2 2 1
(A) B9 Gfafed
(B) diUed ofer
(C) g diafeq -t
(D) Bie 3 |

The tags in HTML are ................ .
(A) Case-sensitive

(B) In upper case

(C) Not Case-sensitive

(D) In lower case

6. W H FSHRISR HA BN Tl TUH oo 2 1
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : C)/ I P.T.O.



(4) 5607/(Set
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

8. CHH o, R FHI FAH SRR ¢ Fed &l
) >> (B) <<
€ > (D) <
In C++ i, operator is also known as insertion operator.
) >> (B) <<
€ > (D) <
- S Y REge™ SR 2l
(A) = (B)
(O] (D) !

.................. is scope resolution operator.
(A) - (B)
(S| (D) !

5607/(Set : C)/ Il

: C)



(5) 5607/(Set : C)

10. OOP's & T% & ................ 2l 1
Full form of OOP'sis ...................

11, ®F oo, | @ amania B 1
(A) FIFO (B) LIFO
(C) PILO (D) LILO
Stack is based on .............. principle.
(A) FIFO (B) LIFO
(C) PILO (D) LILO

12. R F ..o, SR BN 2 1
(A) 1 (B) 2
€) 3 (D) 4
There are .......cccevvnvennen. operations in stack.
(A) 1 (B) 2
€) 3 (D) 4

13. U% RASH INF H &FT, R 38D G ST 7 oo, I 1
A relation is in INF, if all underlying domains of relation contain ...................
values.

14, STHAEANT oo P HH HIA 2 1
(A) ugee
(B) <99
() RS
(D) 3T
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15.

16.

17.

18.

19.

(6)

Normalization minimizes ............ .

(A)
(B)
(€)
(D)

(A)

Attributes
Tuples
Redundancy
Updation

.......... SQL & e 7& 2

DCL (B)
DDL (D)

......... is not a component of SQL.

DCL (B)
DDL (D)

Full form of FTPis .............. .

% A S Jeas 7 e (STeTNEsS) THE ® Uk & [ 9@l TN o,

(€)

......... Fed 2l

DBL
DML

DBL
DML

foret (B) ed

BRI (D) WX

5607/(Set : C)/ Il
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(7) 5607/(Set : C)

A system designed to prevent unauthorized access to a network is

called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
20. T TEEA F IP B TAAT oo Bl 1

(A) FTT Mgl

(B) Fei\c Uemd
(C) FeHe UHeR
(D) F=e TEaT

In Internet terminology, IP means .............. .
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : SS - April/2021
Roll No. SET : D

COMPUTER SCIENCE
HT-1
PART -1
(sTrts o)
(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 40 (A1 : 20, AFHII : 20)
Time allowed : 21 hours] [ Maximum Marks : 40 (Part-I : 20, Part-II : 20)

ge-o & AF & Rl R A (STeiNS) ©E AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IO YR § @ 31 990 N OAFL AT B W Ued SR-gRas
E GO I e B0 0 O R R 7 L (e s O O 22 R G
BN & % ger qd qdemel St I & g% o Rar smem

W1 & 99T-0 § %W 8 U U9 GFHI & S99-9 § Fo 20 97 &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 8 and of Part-II are 20.

o U I F A B G F 57 G979 7 R §T 4 a9 597 8 &

Please make sure that the printed pages in this question paper of Part-I are 4 in
number and it contains 8 questions.
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(2) 5607/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

(i) & FoT a8

All questions are compulsory.
(i) HEF FIT & 37F 3GH QT a9 TT 8

Marks of each question are indicated against it.
(iii) ST T BT & FNeq

Your answer should be according to marks.
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(3) 5607/(Set : D)
Fe: g7 HE 1 @ 3 F G FF G 597 F0 99 qH 97 ST &

Attempt any two questions from Question Numbers 1 to 3. Rest are

compulsory.

1. T FH-FAEe] g oy e s & 4
e AR : T, AR, SR
T BRM :
() @ acg T,
(i) TRET B TOFET &,
(iif) T TG HTN (T, ASTs, TRA)

Create a class-Classroom which includes :
Data Members : Length, Width, Height

Member functions :
(i) To assign initial values,
(ii) To calculate area,

(iii) To display information (length, width, area).

2. U, UEde X Medes FAE AR & auH Hi 4

Explain Public, Private and Protected class members.

3. HEFI M & ! el § TWE D el H qUT B 4

What is a Constructor ? Explain any two types of constructors.

4. T 7 G &Y B 8 ? 2

How insertion takes place in a queue ?

5607/(Set : D)/ | P.T.O.



(4) 5607/(Set :

5. SRR H g k)

Define Normalization.

6. I9 FAGSR Bl TR [RITI IT SS9 B 0% IR [y

Define Web Browser. Write any one example of Web Browser.

7. LAN 3R MAN # o= faifu
Write the difference between LAN and MAN.

8. zeReT & IR fafgw I T ol feiEe w9 & HAT & JUH B

Define Inheritance. Explain the concept of Base class and Derived class.

5607/(Set : D)/ |
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CLASS : 12th (Sr. Secondary) Code No. 5607
Series : SS - April/2021

Roll No. SET : D
HGR {a5

COMPUTER SCIENCE
HAT - 11

PART - 11
(aEgfss 9%9)

(Objective Questions)

ACADEMIC/OPEN
[ = wd S A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o FUT FT FW T 5 G F 5 JeT-9 § FRT § 7 79 797 20 8

Please make sure that the printed pages in this question paper of Part-II are 7 in
number and it contains 20 questions.

o ghereff o1y U To FIT-UA T T [rE)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT FC A [ G797 [U T 7el 8, YT F YU 39
T 7 g o arar w&hHe T8 RAr aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [739T -
General Instructions :

() @ g7 IErt &

All questions are compulsory.
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(2) 5607/(Set : D)
(i) 797 FH% 1 § 20 7% TG 597 8 FAF 597 1 7% F &

Questions from 1 to 20 are objective type questions. Each question is of
1 mark.

[ a5 9 ]

[ Objective Type Questions ]

Full form of FTP is .............. .

2. TF Red S Jeas § oWRRd (STSTeRETS) M @ Ukt & MU a9@n T 8, &
............... Fed B 1

INERES (B) ed

(C) SREE (D) WX

A system designed to prevent unauthorized access to a network is

called .............. .
(A) Bridge (B) Gateway
(C) Firewall (D) Router
3. =TT JEEA H IP B JAAT oo Bl 1

(A) FTLAT HiaEe}
(B) gIAE I
(C) FEXIE MK
(D) §TE AEET
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(3) 5607/(Set : D)
In Internet terminology, IP means .............. .
(A) Internet Provider
(B) Internet Protocol
(C) Internet Procedure

(D) Internet Processor

4. HTML&H T4 &Y ............... Bl 1
Full form of HTML is .............. .

5. fhel 39 37 & T HTML &9 & 98 %5 ..o, 2| 1
(A) TS, T@ed, HTML, st
(B) HTML, &I, TEed, &8
(C) HTML, 8, e@cd, arel
(D) dfEl, HTML, 88, eged

.................... is the correct sequence of HTML tags for a webpage.
(A) Head, Title, HTML, Body
(B) HTML, Body, Title, Head
(C) HTML, Head, Title, Body

(D) Body, HTML, Head, Title

6 e & IRT F s BT 8l 1
A) <a> (B) <b>
(C) <br> (D) <bo>
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(4) 5607/(Set : D)
..................... tag makes the text bold.

(a) <a> (B) <b>
(C) <br> (D) <bo>

The tags in HTML are ................ .
(A) Case-sensitive
(B) In upper case
(C) Not Case-sensitive
(D) In lower case
9. W &l FFI B & TE TUB ..o, 2l 1
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

5607/(Set : D)/ 1l



(5) 5607/(Set : D)
................. is the correct way of declaring an array.
(A) int exam [10];
(B) int exam;
(C) exam {20};

(D) array exam [15];

10. TF HEFEX B A cooeveeennnn 3 M & 99 ol 1

A constructor has same name as that of its .................. .

11. C++F ... R P F0 SR A F&d 2l 1
Aa) »>> (B) <<
€ > (D) <
In C++, i operator is also known as insertion operator.
) >> (B) <<
€ > (D) <
12, e, Y Reflegee St 2 1
A) :: (B)
(O] (D) !

.................. is scope resolution operator.
(A) - (B)
(O] (D) !
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13. OOP's & T &7 .......

14, RF oo g @ emenla ®

(A) FIFO
(C) PILO

Stack is based on .....

(A) FIFO
(C) PILO

......... principle.

15. RF T oo JRYN 2 &

€ 3

There are ......ccc........

A) 1
€) 3

16. TH R INF § 8RN, 3FR 36 a9l M9 ¥

A relation is in INF, if all underlying domains of relation contain

values.

17. STHAEAI .ooveeenennnn,
(4) ugsrE
(B) U
(C) RES=
(D) STeI

5607/(Set : D)/ 1l

LIFO
LILO

LIFO
LILO

2
4

.... operations in stack.

2
4
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(7)

Normalization minimizes ............ .

(A)
(B)
(€)
(D)

18. ......

Attributes
Tuples
Redundancy
Updation

.......... SQL & e 7& 2

DCL (B)
DDL (D)

......... is not a component of SQL.

DCL (B)
DDL (D)

Full form of WAN is .............. .
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DBL
DML

DBL
DML
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